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QUESTION 1

Click on the exhibit.
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The path of a fast reroute protected LSP is R1-R2-R3. Which of the following about the protected LSP path is TRUE?
A. All routers along the path, R1, R2, and R3 can be PLRs.

B. If the R1-R2 link fails, router R4 becomes an MP.

C. If the R2-R3 link fails, router R3 becomes a PLR.

D. Router R1 is the LSP head-end and can be a PLR.

Correct Answer: D

QUESTION 2

Click on the exhibit button below.
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LSP "toR8-5" requests fast reroute protection on the primary loose path. What could be done to remove the Failure

Code shown?

A. CSPF must be enabled at head-end on fast reroute protected loose path LSPs

B. Fast reroute must first be enabled on the downstream routers.

C. CSPF must be enabled on all downstream loose hop routers.

D. Global revertive path optimization must be enabled so the path will be re-optimized around a failed node.

Correct Answer: A
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QUESTION 3
Which of the following about CAC is FALSE?
A. CAC is used when the LSP path has not been computed by CSPF.

B. CAC is used when the LSP path has been computed by CSPF.
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C. CAC is used to perform a bandwidth check on each egress interface of the downstream router.

D. CAC is used to perform a bandwidth check based on the router\\'s LSDB.

Correct Answer: D

QUESTION 4

Which of the following about MPLS fast reroute is TRUE?

A. Fast reroute is used when redundant links are not available.

B. Fast reroute provides path protection close to the failure point.

C. Fast reroute provides fast failure detection to the head-end router.
D. Fast reroute protects both primary and secondary paths.

Correct Answer: B

QUESTION 5

Fill in the blanks: The device at the beginning of an LSP is referred to as the
LSP is referred to as the

A.PE, P
B. LER, LSR
C.LSR, LER
D.iLER, eLER
E. eLER, iLER
F.P, PE

Correct Answer: D
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